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Study or Subgroup Schaub 2008 Seval 2017 Wang2018 Total (95% CI) Heterogeneity: Tau² = 0.00; Chi² = 0.99, df = 2 (P = 0.61); I² = 0% Test for overall effect: Z = 1.99 (P = 0.05) Mean 8.35 8.3 9.52 SD 3.71 1 2.21 Total 37 98 105 240 Mean 8.75 8 9.13 SD 3.77 1.2 3.65 Total 89 82 222 393 Weight 4.0% 76.2% 19.9% 100.0% IV, Random, 95% CI -0.40 [-1.83, 1.03] 0.30 [-0.03, 0.63] 0.39 [-0.25, 1.03] 0.29 [0.00, 0.58] Lubricant Standard care Mean Difference Mean Difference IV, Random, 95% CI -2 -1 0 1 2 Favours [Lubircant] Favours [Standard care]


